Add and subtract fractions (2) e What common denominator can you use to add the fractions?

a) % + % Common denominator = 10
b) 2+2 C denomi -
o _ _ > 1 ) 3 + T ommon denominator = IS
o Amir is using fraction strips to work out 3 + 7
7 1 : _ ]
d) %—% Common denominator = | %
11 3 .
e) =+ 70 Common denominator = A0

Amir says he needs to find a common denominator.

a) Complete Amir’'s method.

o Ron and Eva are working out % + %
2 L2 1.,5_3,10_13 1,.5_6 .20 _ 26
> Zte 12712 1 476724724724

a) What is the same about Ron’s and Eva’s methods?

1 |2 |
4 12 1hﬁJNﬂ—bﬂﬂ—lﬂwﬂmﬂJMMmumﬁi_____
2,1, 3 . 3| LI
3 47 12 12 = 12

2}/ b) What is different about their methods?

b) Show the addition on the fraction strip.

%\ %\%\%17% 7 %

¢) Could you have used a different denominator? O c) Which method do you prefer? Why? O
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° Complete the calculations. Q o Complete the additions.

Give your answers as mixed numbers and as improper fractions.

19
q) l + i = — C) l - l = _S—
4.5_1 = |22 9 8 | ‘B2 | A
a) o+7=| 20 |=| Las | 9 grg=| 7a |=| JFn
7 1 | 2 1,7 _| | -
b g3 2, Dtz i ,
R L O T I R O B P
3 2 6 6 15 1S 3 5
o Mo is drawing jumps on a number line. What patterns do you notice? O

The jumps are the same size.

m e Look at these additions. O

I I I
I I I
1.1 1.1 .1 1.1 .1 .1
1 1 A 2737 273747 273734757
5 3
a) What is the size of the jump? a) When does this pattern first give an answer greater than 2?
_g__ _L+—I—,\.l+_I_+_I_4_I..‘\_—I.,\-,I_+_—L*-_I.—
1S 2 3 u"sTeTFITET 9T 1o 0
b) What is the value of A?
b) Do you think the pattern will ever give an answer greater O
?
E than 1007
15

o Complete the bar model.

(o))
w|ul

2
18
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